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Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure thar
it contains all the pages in correct sequence and that no page/question is missing. In case of fag]t_\-'
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Carcl
without its envelope.

A separate Answer Sheet is given. /t should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

Write vour Roll Number and Serial Number of the Ansiwer Sheet by pen in the space provided ahove.

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. [if anv} on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfarr means.

i

Lach question in this Booklet is followed by four alternative answers. For each question, O e o
record the correct option on the Answer Sheel by darkening the appropriate circle in the corresponding

row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank {such question will be awarded zero mark)

For rough work, use the inner hack page of the title cover and the blank page at the end of this
Booklet.

Deposit only the OMR Answer Sheet at the end of the Test.
You arc not permitted to leave the Examination Hall until the end of the Test.

If a candidate attempts to use any form of unfair means, he/she shall be liable 1o such punishmen

- . . {
as the University may determine and impose on him/ her.
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M. Phil. Entrance Test—2015
No. of Questions /vl & g&a1 : 60

Time/®9Y : 1 Hour/9v Full Marks/quiis : 180

Note :

(521)

Each question carries 3 marks. One mark will be deducted for each
incorrect answer.

T&4% T 3 3% F1 2 YAF Tea IW & forg v ofF *1er Fmom |

(1) Each question is followed by FOUR alternative answers. Only ONE of

(2)

(3)

these answers is correct. Select the correct answer and indicate it in the
appropriate circle on OMR Answer Sheet provided, by darkening the

circle, using Ball Point Pen. .
mm%waﬁmmﬁﬂﬁﬁlsﬁﬁﬁﬁa@maﬁ%l
Hﬁmﬁﬁﬁmﬁﬁaﬂ'&m—ﬁ%mfﬁﬁﬁﬁamﬁqﬁ
w30 R

Attempt all questions from Sl. No. 1 to 40.
F9 TS 1 4 40 T wft wwl A T 2

Out of three sets of questions on languages {41 to 50 Hindi, 51 to 60
Sanskrit and 61 to 70 English), attempt only twe sets. Thus =
candidate is required to answer in all 60 (Sixty) questions only.

a9 T % T (41 4 50 A, 51 } 60 < . ;
@w)ﬁawawﬁ,%mamm%ﬁ:ngﬁg
FA 60 T F IW Y §)

(P.T0,
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Election is to Manifesto as Meeting is to

(1) circular (2) agenda (3) report (4) preface
%ﬁqmwmﬁaﬁmé,sﬁ%rﬁﬁﬂm——ﬁ?f
(1) T (2) TSl -~ (3) fard (4) STET

The number of boys in a class is three times the number of girls. Which of the
following numbers cannot represent the total number of students in the class?

ﬁﬁﬁwﬁwﬁﬁmmaﬁﬁﬁ@nﬁﬁ@ﬂ%rmmﬁﬁw%@ﬁﬁ%
Pt gen oE f g gEn # | T w87

i) 40 (2) 42 (3) 44 (4) 48

In certain code, ELECTION is written as GLGCVIQN, then VOTER will be coded

as

w g2 § ELECTION ® GLGCVIQN Y wq § frr war ?, @ VOTER # 4
w7 o forgn smem?
(1) XOVET (2) VOXET (3) WPUFU (4) VQTGR

What is the least number which when divided by 4, 5, 6 and 8 leaves a
hen divided by 9 leaves no remainder?

mé\ﬁmﬁﬂ-—xﬁ%ﬁm4,5,6am8ﬁmﬁm3mw%,

E

a9 ® AT 1 q8 T s=w?

(1) 123 (2) 243 (3) 729 (4) 363
4



5.

(521}

M. Phil/15/TEST-A

Four persons A, B, C and D live in four houses, which are red, green, blue and
yellow in colour. A does not live adjacent to yellow house. B lives in the yellow
house. The yellow house is adjacent to the green and red house. What is colour
of A’'s house?

{1} Red (2) Green (3} Blue (4) Yellow

'ﬂHWﬁEA,B,CWD'ﬂREﬁﬁGﬁ?ﬁHETfﬂW,E’U,ZﬂmﬁmtﬁwélA
ﬂéfu%swm'ﬁ#ﬁtﬁnfaﬁétﬂﬁrwm%tﬁm1miﬁam-maen%
AE-TF Rl A W OFH W ORN 27

1) v @ & (3) e (4) dren

If cricket is called as hockey, hockey is called as tennis, tennjs is called as
badminton, badminton is called as football, football is cajled as shooting
shooting is called as archery, then Saina Nehwal is associated with which

sport?

(1) Football {2) Shooting (3) Badminton  (4) Tennis

R B ) T W W S e, e i, i g
e A e 1 i, R I oy @ § g 3

(1) Jeuia (2) e (3) efiem (4) g

The average of seven numbers : 7 9,12, x, 5. 4 :
missing number (x)? RS> and 1s 9. Whag wy, be the

mﬁwaﬁ:zg,m,x,s,a;qa‘nmmwg .
ol ?,Fﬁg{agy@

(1} 13 (2} 14 (3) 15

(x) ®n

(4) 8

#.To,
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8.

10.

(521)

Arrange the following words in a meaningful sequence

(a) Poverty (b} Population

(c) Death (d) Unemployment

e} Diseases

ﬁﬂ%{?@awﬁﬁ@mﬁaﬁwﬁm@aw

(a) IR (b) SHEET

(c) 7Y (d) ST

(e) ST

(1) {c), (), (o), (&), @) (2) (b}, (d), (@), (e}, ()
(3) (b), (c), (@), (€}, (&l (4) (a), (), (c}, {d), (€

The day after tomorrow will be X-Mas. What will be the day on New Year if today
is Monday?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

m%maﬁﬁﬂmmlﬁmm%,ﬁmmﬁqwm?

(1) R (2) WA (3) AT () "aHEE
Which one of the given four terms would came in the place of question
mark (?)?

mwﬁﬁﬁﬁqwﬁm?)%wﬂmm?

4 fe
(1) GTV Q) GVS (3) HVT @) GVT
6
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12.

13.

14.
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Two cubes each of edge 12 cm are joined end to end. The surface area of the
resulting cuboid will be

@ o e 12 Rotflo } ammm § ww q@ PR A fren 3 9@ §1 T v
S HA H YE SF%d @

(1) 1400 cm®  (2) 1420 cm?  (3) 1440 cm®  (4) 1450 cm?
If )c—l =3, then the value of x° o will be
X x3
IR, x—l=3, @ X ~i3 F HH &M
X X
(1) 27 (2) 32 (3) 36 (4) 42
The missing number in the circle will be
39 4 sE q@ g
143( 3
? |35
(1) 56 (2) 60 - (3) 63 9 65
If two-digit number is 4 times the sun of its digits and Wice hy
digits, then the number is © Product of the
a&adﬁﬁmmdﬁﬁﬁnmwwaﬂtm;;
A g @ TRw e,
(1) 64 (2) 12 (3) 24
4 36
7

{P. T O_)
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15.

16.

@

18.

The number of solutions of the system of equations
3(2u+ v)=Tuv, 3(u+3v)=1luv
is/are
(1 1 (2) 2 (3) 0 (4) infinity
T ¥ W 3(2u + v) = Tuv; 3(u+3v)=11uw F T H HE B

(1) 1 (2) 2 (3) 0 (4) 3=

11,
If the points (g, 0), (0, b) and (1,1) are collinear, then the value of —t s
' I 4
At fag Lylwmom R
(a,0), (0, b) 7N (1, 1) W@ &, @ i
(1) 0 (2) 1 (3) 2 @) 2

The mean of 5 observations x,x+2,x+4 x+6and x +8is 13, then the value of
X 18
af 5 EE x, x+2, xX+4, x+6 TN x+8 F weETE (3E) 13 B, @ x F AH

2

(1) 8 (2) 9 (3) 6 (4) 4

J7 -1 ‘E_i}=a + by7, then the value of a is
W o
ﬁ—-l E:}»:G+bﬁ,?ﬁ aWTTFI‘%
Hﬁf“"#ﬂfl
741
(4 —3 (3) O (4) -3
-1
(1

(521)
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20.

21.

22.
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A man spends 36% of his income on house rent and 75% of the balance on the
other items. What percent of his income does he save?

T et AwH AWE F 36% W ¥ WA W @E wEl ¢ a9 WY g H
75% ¥ o § @d w0 2, 9 9% ot oymet @ fram wiewa =@ war 27

(1) 8% (2 11% @) 21% . (4) 16%

Reduction of 12% in price of a TV set brought down its cost to Rs 7,678. The
original price of TV set is

12% A P W @ Aofo V2 7,678 To § wieaw wm mm Aode W
afas (7fRd) goa ?

(1) Rs 8,735  (2) Rs 8,725  (3) Rs 8,825 (4) Rs 8,745

Which of the following is the largest desert?

(1) Gobi desert (2) Thar desert

(3) Sahara desert {(4) Great Victoria desert
ffeifigs 4 8 #17 998 v Wew 7

(1) Tisft Wram (2) ¥R

(3) -wem (4) Fe fomifen Mimm

Which of the following leads to ‘night blindness’?

(1) Excess of vitamin A (2) Deficiency of vitap: i

(3) Deficiency of vitamin C (4) Vitamin A deﬁciency

(P-T. O)
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fefafias 4 @ fred o ‘wid o 27
(1) faafim A i sfoma (2} faefim E R wdft
[SJ'%ZT&FICﬁﬁrﬁ (4)%3'&[?A3ﬁ3?5ﬂ

23. Who of the following was awarded ‘Bharat Ratna’ this year?
(1} Netaji Subhash Chandra Bose
(2) Sri Atal Behari Bajpai
(3] Major Dhyan Chand

(4) Sri P. V. Narsimha Rao

W9 FHdEd ¥ ¥ e Wra ™ 8 wenta e w2
(1) &t gam =5 2) #f e frd s
(3) ASR &H <3 | (4) ot dto dto TfE T

24. Which of the following is the hometown of the ‘missileman’ A. P. J. Abdul
Kalam?

hwaram
(1) Trivandrum (2) Rar.nes .

4) Kanya Kumari
(3) Ernakulum (4) y

flo Ho ToGT FW H TN Frfeied § 4 - 27
(2) T @) WIFH (4] T

g T ©
m W

10
(521)
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25. Which country would host the 18th Asian Games of 2018?

{1) Indonesia (2) Vietnam (3) China (4) Malaysia
2018 % 184 TR @w & A9EEl A-m1 2w w42
(1) FSAfmE (2) foagam (3) <= (4) TR

26. Who among the following is the Vice-Chairman of NITI Ayog?

(1) Arivind Subramanian (2) Arvind Panagariya

(3) Arun Jaitly (4) Subramaniam Swamy
Fefafes 4 @ 7 My smim =1 o 27

(1) e gamfrm (2) rfa wmfem

(3) 0 Seeh (4) geHfEm i

27. How many members can be nominated in Rajya Sabhg by the President?

T g T # R weel B e e @ w37
(1) 10 (2) 12 (3) 15 (4) 17

28. PURA (Providing Urban Amenities ip, Rural Areas) was intrody,

td in Indig by
(1) A. P. J. Abdul Kalam

(2) Atal Behari Bajpa;

(3} Manmohan Singh 4) M. S. Swaminath,,

(521) 11
P.T0)
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W(mm@ﬁmﬁwm)mﬁma%mwm
(1) To do Ho Hege HAM g (2) ¥ea fagdt SR g
(3) wHIEd fag g (4) THo THo I THI

29. Fruits of which plant are found underground?

(1) Potato (2) Groundnut  (3) Carrot (4) Onion
5 09 W FA TN F e T W@ RY
(1) e <nt (2) HTHeht = (3) TR = (4) TN H

30. Uttarakhand State was created in the year
(1) 1999 (2) 2000 (3) 2001 (4) 2002
e T ) g,
(1) 1999 ¥ (2) 2000 H (3) 2001 # (4) 2002

31. MICR stands for

1) Magnetic Ink Character Reader (2} Magnetic Ink Code Reader

{

{
MICR & ¥ 2

3) MagnetiC Ink Case Reader (4) Magnetic Ink Computer Reader

(2) P 3% e I

{1)fiﬂkﬁﬁ‘é‘ﬁaﬁ—""—a‘cht
(4) 2IRF 3% T

(3}%3'**”‘3‘

12
(521)



M. Phil/15/TEST-A

ice?
32. Which of the following is the unit of data on an external storage device:

(1) Lumens (2) Clock cycle (3) Byte (4) Hertz

frfefes § @ Fo-dt @ wm@ v STEW ¥ o h R 27

(1) = (2) ¥ wwfee  (3) TS 4) &
33. Programs designed to perform a specific task is known as

(1) operating system (2) system software

(3] application software (4) utility program

Mﬁmmaﬁm%mmmmmmmmﬁmm@

(1) swfen fem (2) Rrem wigeam

(3) HfrhyH ATFAw (4) Il vom
34. The brain of any computer system is

(1) keyboard (2) monitor (3) hard disk (4) CPU

%a‘?m_ﬁmumﬁaﬁm%ﬁaaﬁﬁaﬁ:—mﬁmé?

(1) Haé (2) mifv (3) & fewm (4) cpy
35. IC chips used in computers are usually made up of

(1) lead (2) silicon (3) chromium - (4) 2ol

Wﬁwreﬁqmmﬁmﬁfﬁaaﬁy

(1) g (2) faferers | (3) Fifty () -

(521) 13

P.To,
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36.

37.

38.

39.

(521)

A file extension denoting an executable file

(1) EXE (2) BAT (3) DOC
ofivaRad E5E S WEEYE H A 87
(1) $ouaHo30 @ % (3) T

Windows stores all the deleted file in

(1} desktop (2) folder (3) recycle bin
fier feefie ®13a 1 @l W FE 7
(1) TR (2) HIest (3) ferwe o

The term bit is short for

(1) megabyte
(3} binary number (4) binary digit

ﬁz%ﬁﬁfaﬂmmmw%?

of device is computer keyboard?

What type

(1) Memory (2) Output (3) Storage

£ars fea @@ feasm 27

(1) i (2) IMIYL (3) =i
14

(4) XLS

(4) TFgoUcioUHo

(4) network places

(4) FFF wE

(2) binary language

(4) s fefse

(4) Input

(4) ¥



40. www stands for

(521)

{1) who what where

(3) web what who

Ty T T ¥ W awwd §7
(1) B |/ IN

(3) 9% =R g

15

M. Phil/ 15/TEST-A

(2) weird web world

(4) world wide web

(Q)Eﬁazc.‘aaaFé‘
(4) 9 TS I

PT0,
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Hindi Language
T v
Q. No. 41 to 50

41, ﬁ?ﬁ%ﬂﬁag___qﬁmmgl

(2) 14 faamr (3) 8 IFFLH (4) 10 st

(1) 5 3

42, ‘T’ # oAy 2
(2) TTEH T [FETTE B A

(1) T3 fosig 1 =T
(3) SHETan I AT (4) dfaem i
43. T 2015 F ARA-ARA JEEHR fm # @ fRa fien?
(1) gue f® (2) ey e
(3) Forgfd TTOAN T (4) @iy f&e
44. ‘ﬁﬁmmﬁ@ﬁﬁﬁw’—ﬁaﬁ$ﬂ#%?
(1) SEFH 7E (2) S T
3) g, B (4) AT el S
45, ‘GaTE ¥ d@® &7
1) gz @ (2} s
3) A i (4) AT

16
(521)
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46. FA-U I AYG §7
(1) F3 difern, &R, sk frad w0
(2) ¥ dfern, s+, amdw ol fead dr e off
(3) 7 difern, e, omér iR fwad @l
(4) #1 dfern, &, smdm ok R wfig
47. Jum =1 faem R
(1) F¥IH (2) ®m (3) S (4) v
48. Tl ARG W W T AdE o Fen o739 uRE & See wm 22

(1) oo (2) WA &

(3) =ftrara=. @i (4) Sfdaras g
49. WHefifeEd o 3 @ R aw F omdn B @ owm g 37

(1) Tovamy dea v w@ 2 (2) #0 st wmw @ R

(3) @ WE W w2 (4) faumm Mo m & 2

50. WHEl F W P ' gEk T g wd B
(1) Tt F glE R SR g e
(2) TR A IFR TR R w7 am 2
(3) ol = T avER I T 7
@) fret B Rl Bm R StaE am o

(521) 17
(P.T.0,)
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Sanskrit Language
HEhd WINT
Q. No. 51 to 60
S1. W3 F: A7
(1) =E: (2) wifea: (3) W (4) it

52. ITEAETYE YUl &7
1) TEEE @ R (@) s (@) R

53. dwpd STEW Ha TEN: WA

(1) 74 (2) % (3) & (8}, &

54, qiiufmredEfal i FE ORER: 1

(1) FEESWRE  (2) I (@) R (#)
55, e et 7o 4G Rt
) T (2) S
(3) TR () ST
56, A T e
(1) e @ v ) () oo
18
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(1) wE (2) Rrpemey. (3) Yyug (4) Bl

59. ‘W ¥ R arwe s i
(@) = % v (4) = 2 TE
60. ARYER AT wf
(1) &\ (2) amh (3) T @)
(521) 19

P.To,
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English Language
AT et

Q. No. 61 to 70

61. Choose the correct meaning of the idioms from the alternatives given below :

To tum down

(1) reject (2) give up (3) follow (4) throw

62. Choose the correctly spelt word

(1) Negligeble (2) Neglegible  (3) Neglegeble (4) Negligible

63. Fill in the blank with the correct preposition

We should rely our own efforts.

(1) in (2) on (3} for (4) through

64. Choose the correct alternative to complete the following sentences :

11— the letter before he arrived.
(1) have written (2) had written

(3} had wrote (4) had been written

65 Select the word which is nearest In meaning to the given word :

F,ndeavouf

(2) Appeal (3) Frcsh {4} Announcement

(1) Attempt

20
(521)
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66. Substitute one word for the following :

Deviation from the common rule or standard.

(1) Unprecedented (2) Anomaly

(3) Illegal {4) Uncommon

67. Change the following compound sentence to complex sentence :

He saw the danger and paused.
(1} He saw the danger hence paused
(2) When he saw the danger, he paused
(3) He saw the danger but paused

{4) He saw the danger and then paused

68. Choose the antonym of Spendthrift

(1) Wealthy (2) Miser (3) Rich (@)

69. Choose the correct figure of speech from the four
Ten thousand [ saw at 4 glance,

(I} Metaphor (2) Onomatopoeig

(3) Hyperbole (4) Understatemen,

521) i
PTo,
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70. Choose the appropriate word to fill in the blank space :
A stitch

time saves nine.

(1) on (2) in (3) at {(4) upon

* kK

29 D/5(521)—700
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